Department of Geography

Result Analysis- 2022-23

S. No	NAME OF THE FACULTY	NAME OF THE PAPERS	CLASS, YEAR	Appeared	passed	Pass%	Grade O	Grade A+	Grade A\I DIV	Grade B+\II DIV	B\ III DIV	С	D	FAILED	AB SE NT
		Odd Semester 2022-23													
1	Prof Seema Sahdev	Digital Cartography 2299101103	Sem I, First Year, 2022-23	30	30	100	7 (22.33%)	11 (36.67%)	8 (26.67%)	2 (6.67%)	2 (6.67%)	00	0	01 (03.23%)	00
		Climatology 12291301	Sem II, Second Year, 2022-23	51	51	100	00	00	6 (11.76%)	12 (23.53%)	28 (54.90%)	2 (3.92%)	3 (5.88%)	02 (03.77%)	SE NT
		Digital Cartography 2299101103	B.A. (Hons) Sem I First year	23	23	100%	0	9 (19%)	13 (27.6%)	15 (31.9%)	9 (19%)	0	1 (2.1%)	0	00
2	Dr. Usha K. Pathak	Hydrology and Soil Studies 2297506	B.A. (Hons) , Sem V, Third Year	47	47	100%	0	9 (19%)	13 (27.6%)	15 (31.9%)	9 (19%)	0	1 (2.1%)	0	00
		Regional Planning and Sustainable Development 62293305	BA (P), Sem- III, Second year	63	60	95.2%	0	12 (19%)	20 (31.7%)	13 (20.6%)	13 (20.6%)	1 (1.58%)	1 (1.58%)	2 (3.1%)	(1.58 %)
		Statistical Methods in Geography	BA (H), 2 nd Year, III Sem	27	27	100	2 (7.41%)	12 (44.44%)	6 (22.22%)	2 (7.41%)	2 (7.41%)	3 (11.11 %)	0	0	00
3	Geeta Kumari	Field Techniques and Surveying Methods	BA (P), 3 rd Year, V Sem	36	36	100	0	6 (16.66%)	11 (30.55%)	15 (41.66%)	4 (11.11%)	0	0	0	00
		Disaster Management	BA (P), 3 rd Year, V Sem	44	44	100	0	5 (11.36%)	12 (27.27%)	15 (34.09%)	9 (20.45%)	3 (6.82%)	0	0	00
4	Dr. Shashi Bhushan	Spatial Dimension of Development GE	BA (H) Geography, 1 st Year, I Sem	55	47	85.45	0 (0%)	1 (1.81%)	4 (7.27%)	4 (7.27%)	19 (34.54%)	13 (23.63 %)	6 (10.90 %)	8 (14.54%)	00

		Human Geography	BA (H) Geography, 1 st Year, I Sem	54	54	100	0 (0%)	0 (0%)	1 (1.85%)	14 (25.92%)	25 (46.29%)	12 (22.22 %)	2 (3.70%)	0 (0%)	00
		Regional Planning and Development	BA (H) Geography,3 rd Year, V Sem	48	48	100	1 (2.08%)	1 (2.08%)	9 (18.75%)	17 (35.41%)	13 (27.08%)	5 (10.41 %)	2 (4.1%)	0 (0%)	00
5	Dr. Jitendra	Geography of India	BA (H) III SEM Second Year	53	53	100%	00	10 (18.88%)	18 (33.96%)	18 (33.96%)	05 (9.40%)	01 (01.89 %)	01 (01.89 %)	00	00
3	Rishideo	General Cartography	BA (P), Second Year, III Sem	111	111	100%	00	08 (07.21%)	39 (35.14%	46 (41.44%)	11 (09.91%)	07 (06.31 %)	00	04 (03.48%	00
	Dr Shalini Shikha	Statistical Methods in Geography (12291302)	B.A (Hons) Sem III	27	27	100%	01 (3.7%)	05 (18.51%)	11 (40.74%)	07 (25.92%)	01 (3.7%)	01 (3.7%)	00	00	00
6		Geography of India (62297501)	B.A (Prog) Sem V	65	64	99.5%	00	11 (16.92%)	19 (29.23%)	19 (29.23%)	13 (20%)	2 (3.07%)	00	01	00
		Field Techniques and Surveying Methods (62293503)	B.A (Prog) Sem V	37	37	100%	00	06 (16.21%)	12 (32.43%)	15 (40.54%)	04 (10.81%)	00	00	00	00
		Urbanisation and Urban Systems	B.A (Hons) Geography Sem V	48	48	100%	00	03 (6.25%)	16 (33.33%)	11 (22.91%)	15 (31.25%)	03 (6.25%)	00	00	00
7	Madhuri Meena	Climate Change: Vulnerability and Mitigation (GE)	B.A (Prog) Sem V	40	40	100%	00	01 (2.5%)	17 (42.5%)	13 (32.5%)	7 (17.5%)	01 (2.5%)	01 (2.5%)	00	00
	Dr	Physical Geography	BA (P), 1 st Year, I Sem	125	123	98.4	0	16 (12.8%)	30 (24%)	67 (53.6%)	8 (6.4%)	1 (0.8%)	1 (0.8%)	0	2 (1.6 %)
8	Akhilesh Mishra	Field Techniques and Surveying Methods	BA (P), 3 rd Year, V Sem	36	36	100	0	6 (16.66%)	11 (30.55%)	15 (41.66%)	4 (11.11%)	0	0	0	0

		Remote Sensing and GIS (Practical)	BA (H), 3 rd Year, V Sem	48	48	100	14 (29.16 %)	18 (37.5 %)	15 (31.25 %)	1 (2.08 %)	0	0	0	0	0
		E-Tourism (SEC)	BA P (SEC), 1 st Year, I Sem	27	27	100	1 (3.7 %)	12 (44.44 %)	7 (25.92 %)	6 (22.22 %)	1 (3.7 %)	0	0	0	0
		Physical Geography(2 292101101)	BA (H),1ST YEAR, I SEM	57	53	92.98	03 (5.2%)	33 (57.8%)	14 (24.5%)	03 (5.2%)	00	00	00	04 (7%)	00
9	Dr Avijit Mahala	Human Geography(2 292101102)	BA (H), 1ST YEAR, I SEM	57	53	92.98	33 (57.9%)	17 (29.8%)	02 (3.5%)	1	00	00	00	04 (7%)	00
	Waliata	REMOTE SENSING AND GIS (PRACTICA L)	BA (H), 3RD YEAR, V SEM	48	48	100%	14 (29.1%)	17 (35.4%)	17 (35.4%)	00	00	00	00	00	00
		(12291502) Even Semester 2022-23													
1	Prof Seema	Statistical Methods in Geography (Practical) 2292101203	Sem II First year 2022-23	29	29	100	09 (31.03%)	10 (34.48%)	06 (20.69%)	04 (13.79%)	00	00	00	00	01 (03. 33 %)
	Sahdev	Evolution of Geographical Thought 12291601	Sem VI Third Year 2022-23	48	48	100	00	02 (4.16%)	09 (18.75%)	17 (35.41%)	17 (35.41%)	03 (6.25%)	00	00	00
		Statistical Methods in Geography 2292101203	B.A. (Hons) Sem II First year	23	23	100%	4 (17.3%)	6 (26%)	5 (21.7%)	5 (21.7%)	1 (4.3%)	2 (8.6%)	0	0	0
2	Dr Usha Pathak	Biogeography and Biodiversity 12297607	B.A. (Hons) Sem VI Third Year	47	46	97.8%	0	4 (8.5%)	19 (40.4%)	17 (36%)	6 (12.7%)	0	0	0	1 (2%)
		Fundamentals of Remote Sensing and GPS/GNSS 62293406	BA (P), Second Year, IV Sem	63	61	97.2%	0	20 (31.7%)	22 (34.9%)	14 (22.2%)	3 (6.3%)	2 (3%)	0	1 (1.58%)	1 (1.58 %)

		Introduction to GI Science	BA (P), 3 rd Year, VI Sem	36	36	100%	0 (0%)	3 (8.33%)	7 (19.44%)	14 (38.88%)	6 (16.66%)	4 (11.11 %)	2 (5.55%)	0	0
3	Ms Geeta Kumari	Environmental Geography	BA (H), 2 nd Year, IV Sem	53	51	96.22%	0 (0%)	1 (1.88%)	15 (28.30%)	18 (33.96%)	15 (28.30%)	1 (1.88%)	1 (1.88%)	2 (3.77%)	0
		Disaster Risk Reduction	BA (H), 3 rd Year, VI Sem	64	64	100%	2 (3.12%)	17 (26.56%)	23 (35.93%)	12 (18.75%)	7 (10.93%)	3 (4.68%)	0	0	0
		Disaster Management GE	BA (H) Geography, 1 st Year, II Sem	54	54	100	0 (0%)	1 (1.85%)	14 (25.92%)	13 (24.07%)	18 (33.33%)	6 (11.11 %)	2 (3.70%)	0 (0%)	1
4	Dr Shashi Bhushan	Economic Geography	BA (H) Geography, 2 nd Year, IV Sem	53	52	98.11	0(0%)	1 (1.88%)	9 (16.98%)	22 (41.50%)	10 (18.86%)	9 (16.98 %)	1 (1.88%)	1 (1.88%)	0
		Disaster Management Based Project Work	BA (H) Geography, 3 rd Year, VI Sem	48	48	100	4 (8.33%)	16 (33.33%)	24 (50%)	4 (8.33%)	0 (0%)	0 (0%)	0 (0%)	0 (0%)	0
		Disaster Management Based Project Report	BA (H) VI SEM Third Year	22	22	100	02	05	15	00	00	00	00	00	00
5	Dr Jitendra Rishideo	Fundamentals of Remote Sensing and GPS/GNSS 62293406	BA (P), Second Year, IV Sem	62	61	97.2%	00	20 (32.26%)	22 (35.48%)	14 (22.58%)	3 (04.83%)	2 (3.23%)	0	1 (1.61%)	1 (1.58 %)
		Environmental Geography	BA (P), Second Year, IV Sem	125	123	98.40 %	00	20 (16.00%	47 (37.60%)	35 (28%)	16 (12.80%	01 (0.8%)	04 (3.2%)	01 (0.8%	00
	P 01 11 1	Political Geography (12297606)	B.A (Hons) Sem VI	48	48	100%	00	01 (2.08%)	20 (41.66%)	14 (29.16%)	09 (18.75%)	4 (8.33%)	00	00	00
6	Dr Shalini Shikha	Climate Change: Vulnerability and Mitigation (62295602)	B.A (Prog) Sem VI	40	40	100%	00	01 (2.5%)	17 (42.5%)	13 (32.5%)	07 (17.5%)	01 (2.5%)	01 (2.5%)	00	00

		Sustainable Resource Development _(12295404)	B.A(Hons) Sem IV	71	71	100%	00	01 (1.40%)	18 (25.35%)	38 (53.52%)	10 (14.08%)	04 (5.63%)	00	00	00
		Field Work and Research Methodology	B.A (Hons) Geography Sem IV	53	53	100%	00	6 (11.32%)	18 (33.96%)	19 (35.84%)	08 (15.09%)	02 (3.77%)	00	00	00
7	Ms Madhuri Meena	Population Geography (Minor)	B.A (Prog) Sem II	55	53	96.36	00	01 (1.81%)	08 (14.54%)	21 (38.18%)	12 (21.81%)	04 (7.27%)	06 (10.90 %)	03 (5.45%)	00
		Sustainable Resource Development _(12295404)	B.A(Hons) Sem IV	71	71	100%	00	01 (1.40%)	18 (25.35%)	38 (53.52%)	10 (14.08%)	04 (5.63%)	00	00	00
	Dr Akhilesh Mishra	Introduction to GI Science	BA (P), 3 rd Year, VI Sem	36	36	100%	0 (0%)	3 (8.33%)	7 (19.44%)	14 (38.88%)	6 (16.66%)	4 (11.11 %)	2 (5.55%)	0	0
		Field Work and Research Methodology (Practical)	BA (H), 2 nd Year, IV Sem	53	53	100%	0 (0%)	6 (11.32%)	19 (35.84%)	19 (35.84 %)	7 (13.20 %)	2 (3.77%)	0 (1.88%)	0 (3.77%)	0
8		Environmental Impact and Risk Assessment (SEC)	BA P (SEC), 3 rd Year, II Sem	64	64	100%	2 (3.12%)	17 (26.56%)	23 (35.93%)	12 (18.75%)	7 (10.93%)	3 (4.68%)	0	0	0
		Human Geography (Minor)	BA (P), 2 nd Year, IV Sem	127	127	98.42	0	3 (2.36%)	31 (24.40%)	47 (37 %)	33 (25.98 %)	10 (7.87%)	1 (0.7%)	1 (0.7 %)	1
		Geomorphol ogy (2292101201	BA (H), 1ST YEAR, II SEM	57	52	91.22%	13 (22.8%)	28 (49.1%)	6 (10.5%)	(3.5%)	1(1.7%)	2(3.4%	0	5(8.7%)	00
9	Dr Avijit Mahala	Population Geography (229210120 2)	BA (H), 1 ST YEAR, II SEM	57	51	89.47%	16 (28%)	23 (40.3%)	12 (21%)	00	00	00	00	6(10.5%)	00
		Int. to GIS Science (Practical)	BA(H) 2 RD Year, IV Sem	54	53	98.14%	00	10 (18.5%)	23 (42.5%)	14 (26%)	6 (11.1%)	00	00	1(1.8)	00